

## NOTE ON A CONJECTURE OF R. A. SATNOIANU

SHANHE WU

(communicated by P. Bullen)

*Abstract.* In this paper, a conjecture posed in [R. A. Satnoianu, The proof of the conjectured inequality from the Mathematical Olympiad, Washington DC 2001, *Gazeta Matematica*, 106 (2001), 390–393] is studied once again, a generalization of Satnoianu's inequality is established.

### 1. Introduction

In [1], R. A. Satnoianu studied the inequality

$$\sum_{cyclic} \frac{a}{\sqrt{a^2 + \lambda bc}} \geq \frac{3}{\sqrt{1 + \lambda}} \quad (a, b, c > 0, \lambda \geq 8), \quad (1)$$

and conjectured that the above inequality can be extended to a more general case. Satnoianu then proposed the following inequality as a conjecture.

CONJECTURE.

$$\sum_{i=1}^n \left( \frac{x_i^{n-1}}{x_i^{n-1} + \lambda \prod_{k \neq i} x_k} \right)^{\frac{1}{n-1}} \geq n(1 + \lambda)^{-\frac{1}{n-1}} \quad (2)$$

for all  $n \geq 2$ ,  $x_i > 0$ ,  $i = 1, 2, \dots, n$  and any  $\lambda \geq n^{n-1} - 1$ .

Inequality (2) has attracted interest of mathematicians. In [2], W. Janous proved the validity of inequality (2) by means of Lagrange's method of multipliers. Shortly after the publication of Janous's paper, by using the *GA*-convexity inequality, R. A. Satnoianu [3] established a generalized version of inequality (2) as follows

$$\sum_{i=1}^n \left( \frac{x_i^{n-1}}{\alpha x_i^{n-1} + \beta \prod_{k \neq i} x_k} \right)^{\frac{1}{n-1}} \geq n(\alpha + \beta)^{-\frac{1}{n-1}}, \quad (3)$$

where  $n \geq 2$ ,  $x_i > 0$ ,  $i = 1, 2, \dots, n$ ,  $\alpha, \beta > 0$  and  $\beta \geq (n^{n-1} - 1)\alpha$ .

Satnoianu's inequality (3) prompts us to ask a natural question: *Under what condition is the inequality (3) still true if the exponent  $\frac{1}{n-1}$  is replaced by any real number  $\frac{1}{p}$ ?*

---

*Mathematics subject classification* (2000): 26D15, 26D20, 52A40.

*Keywords and phrases:* Conjecture; generalization; Satnoianu's inequality; Hölder inequality; arithmetic-geometric means inequality.

A satisfying answer to this question is given by the following theorem.

**THEOREM 1.** *Let  $\alpha, \beta, x_i (i = 1, 2, \dots, n)$  be positive real numbers, and let  $q$  be a real numbers. Then for  $p < 0$ , or  $p > 0$  with  $\beta \geq (n^{\max\{p,1\}} - 1)\alpha$ , the following inequality holds true*

$$\sum_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} \geq n(\alpha + \beta)^{-1/p}. \tag{4}$$

### 2. A Set of Lemmas

In order to prove Theorem 1, we first introduce the following lemmas.

**LEMMA 1.** (see Wu and Debnath [4]) *Let  $p_j > 0, a_{ij} > 0 (i = 1, 2, \dots, n, j = 1, 2, \dots, m)$ . Then*

$$\prod_{j=1}^m \left( \sum_{i=1}^n a_{ij}^{1/p_j} \right)^{p_j} \geq n^{\min\{p_1+p_2+\dots+p_m-1, 0\}} \sum_{i=1}^n \prod_{j=1}^m a_{ij}. \tag{5}$$

**LEMMA 2.** (see Wu [5]) *Let  $x_i > 0 (i = 1, 2, \dots, n)$  and  $p \geq 2$ . Then*

$$\left( \sum_{i=1}^n x_i \right)^p \geq \sum_{i=1}^n x_i^p + (n^p - n) \left( \prod_{i=1}^n x_i \right)^{p/n}. \tag{6}$$

**LEMMA 3.** *Let  $a_i > 0, b_i > 0 (i = 1, 2, \dots, n)$  and  $rs > 0$ . Then*

$$\sum_{i=1}^n \frac{a_i^r}{b_i^s} \geq n^{\min\{s-r+1, 0\}} \left( \sum_{i=1}^n a_i \right)^r / \left( \sum_{i=1}^n b_i \right)^s. \tag{7}$$

*Proof.* Case (I): When  $r > 0, s > 0$ . Using Lemma 1, we obtain

$$\left( \sum_{i=1}^n b_i \right)^{s/r} \left( \sum_{i=1}^n \frac{a_i^r}{b_i^s} \right)^{1/r} \geq n^{\min\{\frac{s}{r}+\frac{1}{r}-1, 0\}} \left( \sum_{i=1}^n b_i^{s/r} \cdot \frac{a_i}{b_i^{s/r}} \right),$$

thus

$$\sum_{i=1}^n \frac{a_i^r}{b_i^s} \geq n^{\min\{s-r+1, 0\}} \left( \sum_{i=1}^n a_i \right)^r / \left( \sum_{i=1}^n b_i \right)^s. \tag{8}$$

Case (II): When  $r < 0, s < 0$ . It implies that  $-r > 0, -s > 0$ . By appealing the result of Case (I), we have

$$\begin{aligned} \sum_{i=1}^n \frac{a_i^r}{b_i^s} &= \sum_{i=1}^n \frac{b_i^{-s}}{a_i^{-r}} \geq n^{\min\{-r-(-s)+1, 0\}} \left( \sum_{i=1}^n b_i \right)^{-s} / \left( \sum_{i=1}^n a_i \right)^{-r} \\ &= n^{\min\{s-r+1, 0\}} \left( \sum_{i=1}^n a_i \right)^r / \left( \sum_{i=1}^n b_i \right)^s. \end{aligned}$$

Lemma 3 is proved.  $\square$

### 3. Proof of the Main Result (Theorem 1)

In our proof of Theorem 1, we consider the following three cases.

Case (I): When  $p \geq 1$  and  $\beta \geq (n^{\max\{p,1\}} - 1)\alpha$ , which implies that  $p \geq 1$  and  $\beta \geq (n^p - 1)\alpha$ .

Applying Lemma 3 and Lemma 2 respectively, it follows that

$$\begin{aligned}
 & \sum_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} \\
 &= \sum_{i=1}^n \frac{(x_i^{q/(p+1)})^{(p+1)/p}}{(\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n})^{1/p}} \\
 &\geq n^{\min\{\frac{1}{p} - \frac{p+1}{p} + 1, 0\}} \left[ \frac{(\sum_{i=1}^n x_i^{q/(p+1)})^{(p+1)/p}}{(\sum_{i=1}^n (\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}))^{1/p}} \right] \\
 &= \left[ \frac{(\sum_{i=1}^n x_i^{q/(p+1)})^{p+1}}{\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n}} \right]^{1/p} \\
 &\geq \left[ \frac{\sum_{i=1}^n x_i^q + (n^{p+1} - n)(\prod_{i=1}^n x_i^{q/n})}{\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n}} \right]^{1/p} \\
 &= \left[ \frac{n^p}{\alpha + \beta} + \frac{(\beta - (n^p - 1)\alpha) (\sum_{i=1}^n x_i^q - n \prod_{i=1}^n x_i^{q/n})}{(\alpha + \beta) (\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n})} \right]^{1/p} \\
 &\geq n(\alpha + \beta)^{-1/p}.
 \end{aligned}$$

The latter inequality follows from the hypothesis  $\beta - (n^p - 1)\alpha \geq 0$  and the arithmetic-geometric means inequality  $\sum_{i=1}^n x_i^q - n \prod_{i=1}^n x_i^{q/n} \geq 0$ .

Case (II): When  $0 < p < 1$  and  $\beta \geq (n^{\max\{p,1\}} - 1)\alpha$ , which implies that  $0 < p < 1$  and  $\beta \geq (n - 1)\alpha$ .

Applying Lemma 3 and Lemma 2 respectively, we have

$$\begin{aligned}
 & \sum_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} \\
 &= \sum_{i=1}^n \frac{(x_i^{q/2})^{2/p}}{(\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n})^{1/p}}
 \end{aligned}$$

$$\begin{aligned}
 &\geq n^{\min\{\frac{1}{p}-\frac{2}{p}+1, 0\}} \left[ \frac{\left(\sum_{i=1}^n x_i^{q/2}\right)^{2/p}}{\left(\sum_{i=1}^n \left(\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}\right)\right)^{1/p}} \right] \\
 &= n^{1-\frac{1}{p}} \left[ \frac{\left(\sum_{i=1}^n x_i^{q/2}\right)^2}{\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n}} \right]^{1/p} \\
 &\geq n^{1-\frac{1}{p}} \left[ \frac{\sum_{i=1}^n x_i^q + (n^2 - n) \left(\prod_{i=1}^n x_i^{q/n}\right)}{\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n}} \right]^{1/p} \\
 &= n^{1-\frac{1}{p}} \left[ \frac{n}{\alpha + \beta} + \frac{(\beta - (n - 1)\alpha) \left(\sum_{i=1}^n x_i^q - n \prod_{i=1}^n x_i^{q/n}\right)}{(\alpha + \beta) \left(\alpha \sum_{i=1}^n x_i^q + n\beta \prod_{i=1}^n x_i^{q/n}\right)} \right]^{1/p} \\
 &\geq n(\alpha + \beta)^{-1/p}.
 \end{aligned}$$

The latter inequality follows from the hypothesis  $\beta - (n - 1)\alpha \geq 0$  and the arithmetic-geometric means inequality  $\sum_{i=1}^n x_i^q - n \prod_{i=1}^n x_i^{q/n} \geq 0$ .

Case (III): When  $p < 0$  and  $\alpha, \beta > 0$ . Using the arithmetic-geometric means inequality gives

$$\begin{aligned}
 \sum_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} &\geq n \left[ \prod_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} \right]^{1/n} \\
 &= n \left[ \prod_{i=1}^n \left( \alpha + \beta x_i^{-q} \prod_{k=1}^n x_k^{q/n} \right)^{1/n} \right]^{-1/p}.
 \end{aligned} \tag{9}$$

On the other hand, applying Hölder inequality, one obtains

$$\begin{aligned}
 &\prod_{i=1}^n \left( \alpha + \beta x_i^{-q} \prod_{k=1}^n x_k^{q/n} \right)^{1/n} \\
 &\geq \left(\alpha^{1/n}\right)^n + \left(\beta^{1/n}\right)^n \left(\prod_{i=1}^n x_i^{-q/n}\right) \left(\left(\prod_{k=1}^n x_k^{q/n}\right)^{1/n}\right)^n \\
 &= \alpha + \beta.
 \end{aligned}$$

Note that  $-1/p > 0$ , combining inequality (9) and the above inequality leads to the desired inequality:

$$\sum_{i=1}^n \left( \frac{x_i^q}{\alpha x_i^q + \beta \prod_{k=1}^n x_k^{q/n}} \right)^{1/p} \geq n(\alpha + \beta)^{-1/p}.$$

The proof of Theorem 1 is complete.  $\square$

REMARK. Letting in particular  $p = n - 1$  and  $q = n$  ( $n \geq 2$ ) in Theorem 1 yields the Satnoianu's inequality (3). If we put in the Satnoianu's inequality (3)  $\alpha = 1$  and  $\beta = \lambda$ , we obtain the conjectured inequality (2). Further, the inequality (1) would follow from inequality (2) with  $n = 3$ . It is worth mentioning that inequality (1) appeared first as an Open problem 10944 in the *American Mathematical Monthly* [6].

*Acknowledgments.* The research was supported by the Natural Science Foundation of Fujian province of China under grant No.S0650003.

## REFERENCES

- [1] R. A. SATNOIANU, *The proof of the conjectured inequality from the Mathematical Olympiad*, Washington DC 2001, *Gazeta Matematica*, 106 (2001), 390–393.
- [2] W. JANOUS, *On a conjecture of Razvan Satnoianu*, *Gazeta Matematica Seria A*, XX(XCIX) (2002), 97–103.
- [3] R. A. SATNOIANU, *Improved GA-convexity inequalities*, *J. Inequal. Pure Appl. Math.*, 3 (5) (2002), Art. 82.
- [4] S. WU AND L. DEBNATH, *Generalizations of Aczel's inequality and Popoviciu's inequality*, *Indian J. Pure Appl. Math.*, 36 (2) (2005) 49–62.
- [5] S. WU, *Generalization and sharpness of power means inequality and their applications*, *J. Math. Anal. Appl.*, 312 (2005) 637–652.
- [6] M. MAZUR, *Problem 10944*, *Amer. Math. Monthly*, 109 (2002), 475.

(Received August 5, 2007)

Shanhe Wu  
 Department of Mathematics and Computer Science  
 Longyan University  
 Longyan Fujian 364012  
 P R China  
 e-mail: wushanhe@yahoo.com.cn